—_ _1 -
3 10 5 C
= 8
=
2 101
° S 10
1072 l
ul 1072 =
=311
1078 107
.9 1.V I : .9 J..UD-
T y y S
o N N o
il : : il
0923210 1 2 3 09232 a1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
- § MW\IH%?EHH&%%B [ E E’)%Sg:g'gé’é’
—— BOM-VoR01-RA00009001—G|opa—mKEePI—REGS
—— DQM~VO001~R00000000: Global—™mkFitOPT—RECO
-~ =~ 1=
£ g :
2 e
2 -
5 o E
5 o :
107t o
107k 107 {1 |
01008t b b b ] 1111111 O I S |
kS : : : : : g :
o N o
4 : !
03310 1 2 3 03310 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ 15
m, ]
i
o
=)
5

,_.
<
L

23 2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


